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ﬁ?mxt 80+30=110
Total Questions : 80 + 30 = 110
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+ gt 2 Candidates are required to give
their answers in their own words

as far as practicable.

ia;"a; 3. Figures in the right hand margin
indicate full marks.
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4. g7 F &G g@H gt F forw 4. 15 mir_'ﬁues of extra time have been

15 fie &1 fafrs gag Rar mar
g

5. I8 59997 gl @vel § & — mug-ar

——

oq WUE-a/

6. WVE-37 ¥ goawgfre wyw ¥ =
® =2t 40 vt & 397 37 3

wew & fw 1 ow frffea &) afy
FiF el 40 @ I gvT #7
IR 31 & @ e 40 W F I
FT & Fogiwd &M FHE IH
JgeT F(E T OMR ITT-T7& 7
o m wet fawew s AR
e o @ W Reet ot mE &
ZAZeAT / AT wrd [/ &% /
ATy Nt T OMR IT-93%F H
ggiw YT wAT & H=wr wen
yRomm = g

allotted for the candidates to read

the questions carefully.

. This question booklet is divided into

two sections — Section-A and

Section-B.

. In Section-A, there are

80 objective type questions, out
of which any 40 questions are to
be answered. Each question
carries 1 mark If a candidate
answers more than 40 questions,
then answers of first 40 questions
will be cuvaluated only. For
answenng these darken the circle
with blue / black ball pen against
the correct option on OMR Answer
Shee! prownided to you. Do not use
whitener / liguid / blade / nail
etc. on OMR Answer Sheet;
otherwise the result will be

treated invalid.
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; Tug-g & 24 7Y Iwdg gyT & 7. In Section-B, there are 24 short
3:_;1;— 8 Uy w?ﬁarm% P answer type gquestions. Out of
TN Ve & U9 8 wyw aa
famrT & & w=% g (wifie
YA, THIIT VA T AT faar)
I AR-9w ¥ FT Iaw o 2
TEF & 0 2 dF fuiRka & w3
sfake 39 @ve ¥ 6 IS FRlT
wT [RE e 8 A ® 2 mer
Wifa® STRA &, 2 99 TQra+ I
F 09 2 WvT WiT famwa F &
wifdw sra & 9% 9 ITE

these, eight gquestions are from
Physics, eight questions are Sfrom
Chemistry and eight questions
are from Blology. Four questions
are to be answered from each
subject (Physics, Chemistry and
Biology). Each question carries
2 marks. Apart from these, there
are 6 Long Answer type questions
in which two questions each from
Physics, Chemistry and Biology
are there. Long Answer type

guestions from Physics carries

v & [0 6 A, TEIET I UF
Fa faar g4+ & v 5 i@
Friifia &1 ged% fawg sifae o,
WIgT Y Ud wi|. faar d

UF-UF 9 &7 AT AT &1

8. frd sER @ soiazie Iy @ 8

ggIT qUiaar &t &

6 marks each, and from
Chemistry and Biology carries

5 marks each. Answer of one

question each from Physics,
Chemistry and  Biology s
compulsory. i

Use of any electronic appliances 1s

strictly prohibited.
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@Wug - A /| SECTION - A
El?ﬂﬁ-l"% Wy / Objective Type Questions

mm1#soaﬁamﬁrem?rgnﬁ#%# 40 T¥AT @71 I°T 3T )
mm&"mwﬁmﬁvw?ﬁﬁ##ﬁaﬁ?fwﬁmgﬁw
@zt faweq &1 OMR ¥z v fafead & 40 x 1 =40

Question Nos. 1 to 80 are of objective type. Answer any 40 questions. Each
question has four options out of which only one is correct. You have to

mark your selected option on the OMR sheet. 40 x 1 =40
1. Afifvey sred anoft 3 fw wqg w1 e @ 2

(A)  EEE VI H (B) EHEI®HI

(C) TR | (D) 34T Tl H

Magnesium is a member of which group of the periodic table ?

(A)  Group VIII " (B) Groupl

(C) Group Il | (D) Nonmetallic element
2. 3=d |roft § &R oad § 2

(A) 42 : B) 9

(C) 8 | By 7

How many periods are e the periodic table ?

A) B2 B) 9

—er 8 D) 7

3. frafafas § s 9@ @997 H ahib fofu 38 g 2

(A) el - (B) HcE

(C) Znaw (D) 3w
| SS/A/613
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Which of the following is not an ancient method of water

harvesting ?

(A)  Katta (B) Kulh
(C)  Dug well : (D) Irish

4.  ferl = fwio = Rem w2
(A) farwreh BRI (B) y f&=ms
(C) v mqfd _(D) A @

What was the objective of construction of Tehri Dam.?
(A)  Electricity generation (B) Land irrigation

(C) Water supply (D)  All of these
5. 3UirE gEyH Y 95 HAFuEen &1 2 2

(A) ST (B) AU
() M ' (D) 8§ @i
What is the new concept of waste management ?
(A) Reuse (B) Recycle
(C) l-Ieduce | (D)  All of these
6. frferfiga o Fefieofa geoam #1 2 2
(A) I B
€) Wiferm i (D) 398 @ &+ T8
.Which of the following is a renewable resource ?
(Ai Coal (B) Forest
(C) Petroleum (D) None of these
[ SS/A/613 Page 5 of 32
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:—‘E fyrafishian § ¥ aadite &1 g ueh R ?
(A) WA IS (B) EISIA HeH1ES
(C) eraTsq (D) Tadm
Which of the following is the main component of biogas ?
(A)  Carbon dioxide (B) Hydrogen sulphide
(C) Water vapour (D) Methane
8. uUfs 3w & gl @
(A) HH WISH @ & (B) W WIH @A ¥
(C) TRERTHE@WEE (D) FHH TR
Peptic ulcer can be caused by
(A)  Eating less food ' (B) Eating normal food
(C) Prolonged starvation (D) None of these
9. ool & @ 1w 2
(A) SRS (B) g
()2 (A) 3 (B) gHI . (D) T 8 @I FE
A group of rays is called
[A]- Light beam (B) Ray beam :
(C) Both (A) and (B) (D)  None of these
10.  webTel Y Fentol e e 8
(A) ot oft feem d (B) Tt wan H
(o) Hehr@d (D) T & 3 T
| SS/A/613 Page of 32
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The light rays travel in

(A) any direction (B) oblique line
(C) a straight line (D)  none of these
11.  &adt Uv fFe woR @ adu R 2
_(a) el (B) fwd

(C) ur &t sgErt g (D) T @ W
Which type of mirror is a concave mirror ?
(A) Divergent
(B) Cnnvergcnf
(C) Bpth convergent and divergent
(D) None of these
12. &R H gsenge ¥ Fafafge ¥ ¥ few ger % gdn 1 3w fe s @ 2

~A) I T (B) el gim
© wuew g (D) i &
Which c:.f the following types of mirror is used in the headlight of a
car ?
(A) Convex mirror (B) Concave mirror
(C) Plane mirror (D) None of these
13, aael gdur # B g Bt 2
—A]  "ATEHS (B) I
(O (a3 (B) A (D) 39 | His TE
The focal length of a concave mirror is
(A)  Positive (B) Negative
(C) both (A) and (B) (D) None of these
[ Ss/A/613 Page 7 of 32
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14, f%8 adv § g agq @ S wfafee a=3d@ 2 ?

(A)  Fad (B) HHASA
_(C) 3w (D) ¥ A FI5 TE
Which mirror always forms an image smaller than the object ?
(A)  Concave (B) Plane
(C) Convex (D) None of these
1S. g # v & 9, fFrafa 61 snen &
Aa) (B) Su@
(C) §um (D) AR
The speed of light in air as compared to vacuum is
(A)  Less | (B) More
(C) Same (D)  None of these
16. mmﬂﬁﬂi—mmﬁ@mﬁmﬁhéﬁ% ?
(A)  SOEdH (B)  Fui-fagiu
(C) WA +D)  3TUEdA

Which 'phenomenon exhibited by light is demonstrated in the of

twinkling of stars ?
(A) Reflection (B) Dispersion
(C) Skcattering (D) Refraction

17 Fevioazen # 819 9160 9iE@dd &) H8d 8

(A) Tofaua (B) W
C) - =gk (D) ¥ & i A&
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The changes that take place during adolescence arc called

(A)  Diversity (B) Germination
(C) Puberty (D) None of these
18, f=fciiad 4 +147 sfEn figem el 3§ e v g 3um @ 2
(A) SEHHE _(B) s
(C) A wE T (D) T 4 afi
Which of the following is an effective measure used in family
planning ?
(A) Diaphragm | (B) Condom
(C) Copper T and loop (D)  All of these

19. eI %1 1 3¢t @ 2
(A) gald d =1 & O 1 ST
(B) @l d S F ot 1 TE 3
() wafe © qaS & Toit 1 T, S AT T 2
D) wEAWA | |
What is the meaning of atavism ?
(A) Inheritance of parental characteristics in progeny
(B) No inheritance of parental characteristics in progeny

(C) Inheritance of ancestral characteristics in progeny, which are

not in parents

(D)  All of these
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20. el Sfie 1 SN weeen e R

(A)  eherg (B) e

() mfirmm (p) ffae

The genetic structure of an organism is called

(A)  Phenotype (B) Genotype

(C)  Heredity - (D) Duversity
21.  wipfew == g Sl w1 R weem 2

(4) e (B) AT

(€) §&w fawm _py” e

The evolution of organisms by natural selection is called

(A)  Mendelism (8) Lamarckism

(C) Micrc-)-development () Darwinism
22. 99 v welia wO AR w2

(A) CFC (B) ADP

(C) ATP . (D)} DDT

The chemical which shows biomagnification is

(A} CFC (B) ADP

(C) ATP (D) DDT
23.  wruftes I HEaw

(A)  JTHCH (B) waiEd

(© e 7
(SS/A/613
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Primary consumers are called

(A) Decompauser (B) Omnivorous
(C)  Carnivorous (D)  Vegetarian
24. CFC %1 S9% I9dT gy 2
(A) W2 g (B) GhRed A
(C) T HIEY § (D) yﬁz‘;*mﬁ
CFC is widely used in
(A) Jet engines (B) Refrigefators
(C) Air conditiqners | (D)  All of these
25. ﬁﬁtﬁrmaﬁfﬁmp‘eﬁ,a‘l_
(A) f+P=0.5 (B)  fxP=1
€ _P+f=1 | D) P +f=2
If the focal length of the'lens is fand power is P then
(A) F+ P=0yB (B) fxP=1
(C) P.+f=1 (D) P+f=2
26. 3R 1 HH-H1 g ATG F WA h R/E FE =1 2 ?
(A) T —B)
(C) f&em (D) WA
Which part of camera acts like the retina of the eye ?
(A)  Aperture ~ (B) Lens
(C)  Film (D)  Shutter
Esi/_‘q_f_@_li_ Page 11 of 32
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27, s ey WiAa 33 % foro free -famg qun ql-faeg 214 8
(A) Oud Hd (B) 25cm W 250 cm
_(C) 25cmTE ¥ (D) OTd 25cm

For a healthy human eye, the near point and far point are

respectively

(A) 0 and infinity (B) 25 cm and 250 cm
(C) 25 cm and infinity (D) Oand25cm
08, gl W @S FHaiE aEl w1 A Y g B
(A) | (B) e
Gy e (D) I

To an astronaut standing on the moon, the sky appears to be

(A) Red (B) Blue

(C) Black (D) White

20. I3 1 HHH-4HAT 0 & 9H ¥ I 2l @
A) g __(B) w3 M
(C) < Frre-gfe T (D) Ui
The decreased accommodative ability of the eye causes
(A) Farsightedness (B) Presbyopia
(C) Nearsightedness (D) Colourblindness

3%,%):aaﬁwﬁﬁmwm%

W
e

) _Am (B) Q/m |
“/(;-1 (D) ¥ A w A |
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- The unit of resistivity in a conductor is

Q/m

None of these

0-19

0-25

0-19

(A). Qm (B)
© o (D)
élxﬂaﬁ%ﬁﬁ%ﬁﬁﬂﬁ?ﬁ%ﬁ

(A) 023 (B)

_(C) 021 (D)
How many calories are there in 1 joule ?

(A) 023 (B)

(C) 021 (D)

0-25

32. Togd sv= 4 remie Pefafaa § fva g %1 90 81 2 2

Ty

e

GIC]

The filament in an elegtric bulb is made of which of the following

(&) & (B)
ey TR (D)
metals ?

(A) Iron (B)
(C) Tuangsten -[D}

33. Q@ it FE g S 2

(A) WEHH (B)
(C) ueft =
Double circulation is not found in
(A)  Frog (B)
(C) Bird - (D)

Aluminium

Copper

Ul o
T

Fish

Human

[ SS/A/613
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34. i F 4 +al A WaW Sl R ?

(A) ?{&3 } (B) w3
/,,..li%‘l’/;iﬁ 3 (D) ¥ AR A
" From where does urea enter the blood ?
(A)  Kidney ~ (B) Lungs
(C) Liver (D} None of thesc
35, O[S T TRETY el B R 2
(A) PCTH . _{B) DCTH
(C) &1 &9 (D) & ¥ A

Where does glucose reabsorption occur ?

(A) In PCT (1_3) In DCT
(C)  In Henle's loop (D)  All of these
26, Tfm frmait s Goreaey a1 g el & IR § AR HRe & a6
5l HEd
(A)  HTEH A (B) iR o
)g/'w:h E | (D) wlEh! o

The mechanism for removing harmful substances formed as 2

result of various activities from the body is called
(A) Digestive system (B) Circulatory system

(C) Excretory system (D) Nervous system

[ss/A/613 | Page 14 of 3'%
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(A)  He (B) &HT9A
(C) wywg (D) @A

What can happen due to spinal cord injury ?

(A)  Goitre (B) Dwarfism
(C) Diabetes (D)  Paralysis
S & YRR ) gl 9 gfy 2

(A) THE (B) @R

(C) eI (D) N

The largest gland in the human bedy is

(A) Adrenal (B)  Liver

(C) Ovary (D) Pancreas

(A) (B) wRAEHE

() ST (D) ¥ @ HE A
Plant hormone is called

(A) Pheromone (B) Phytohormone
(C) Enzyme (D) None of these
gt gra w1 yade &1 IR0 2

(A) @& (B) I

(C) T (D) STETHTEEH
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An example of vegetative propagation through lecaves is
(A)  Onion (B) Potato
(C) Rose (D) Bryophylum

a1 e w1 e frer R 1 GO 1 &, il a7 9t |
(A)  IE gl g @) faca g 2
(C) feeia g @ (D) T B T

An aqueous solution of acid conducts electricity because acid in

water

(A) gets ionized (B) is soluble

(C) is insoluble (D) none of these

a0 Frefafiga § @ S 149 gEF (olfactory indicator) aE R
(A)  ©T T A (B) dfen
(C) YHH< (D) zH @ wfi
Which of the following is not an olfactory indicator ?
(A) Cloveoil (B) Vanilla

(C) .«Sweet potato (D)  All of these

43. S % gF § BT 3R q1F1 AT & ?

7)) Tafes v (B) UHIfew e
(C) AAATH I (D) ¥ ¥ i T
Which acid is found in ant sting ?
(A)  Citric acid (B) Acetic acid
(C) Methanoic acid (D) None of these
R
(S5/A/613 o 16T
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aq.  frAifea § Rl 9a § gee w@a & 2

(A) Y90 BEHRE &) (B) e BIEHIH i
(C) IMAEHR ) (D) T4
Which of the following is kept immersed in water ?
(A)  White phosphorus (B) Red phosphorus
(C) lodine (D). Sulphur
45. I A g F w9 § vl verd waam 2
(A)  wgEE ®) snuEh ()
) @ (D) 398 ¥ H T
The substances, present as impurities in on ore, are called
(A) Slag (B) Gangue
(C) Mineral (D) None of these
46. TrieRa | {4 uTg 1. 91% § AEF | He S GHdl @ ?
—{A— Na (B) Cu
(C) Ni (D) Al

Which of the following metals can be easily cut with a knife ?

(A) Na (B) Cu
© Ni D) A
'47. @R ¥ P-1 urg et g w6 SR @ e
(A)  Fe (B) Cu
€) Zn (D) Ag

SS/A/613 | ; Page 17 of 32
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Which metal is mixed with gold to make an alloy ?

(A)  Fe () Cu

(C) 2zn | (D) Ag
48. fufasia o

(A)  ug (B) 4

(C)  Tasng (D) 39Ty

Silicon is a/an

(A) Non-metal (B) Metal
(C) Alloy (D)  Metalloid
49. wovsH TN Rgaada fra = d fRm g 2
(A) aﬁizasj (B) dftreTg
(C) I 9T i o T
In which staté'is the Kalpakkam Nuclear Power Plant located ?
(A) Karnataka (B) Tamil Nadu
(C) Uttar Pradesh (D) Gujarat
50. ©q M9 (LPG) &1 W@ 39ad g
(A) TH (B) A
(C) a@? (D) fuem
The main component of domestic gas (LPG) is
(A) Ethane (B) Propane
(C) Butane (D) Methane -
E_S,_S_MS ‘ Page 18 of
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mﬁ@ﬁalqﬁwvﬁua}aﬁ |

(A)

(C)  Slemrn aw SRy

D) ¥ @ Hid 4
The two non-renewable sources of energy are
(A) Gobar gas and biomass
(B)  Coal and petroleum
(C) Biomass and petroleum
(D) None of these
vE T8 wor R s -8
(A)  HEHSH (B) - 9=
— (G ST (D) 3Iy=Es
Which type of reaction ig respiration ?
(A)  Cornbination ' {E} Reduction
(C) Endothermic (D)  Oxidation
§eiwg R A Y A weem 3
(A) et (B) wEEAH
() 2gm darh (D) o0 q = T8
Compounds formed by transfer of electrons are called
(A)  Organic (B) Covalent
(€} Elecirovalent (D}  None of these
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54 Profafu sfearat § § 9 e 6 il o1 ok e 27
(A) H2 +1, — 2HI
(B)  NH,CNO-»H,NCONH,
[C} NaOH + HCl—» NaCl + H,O
(D) - 2KClO5 —+KCl +30,

Which of the following reactions is an example of decompositi

reaction ?
(A) H, +1, —» 2HI
(B) NH,CNO-»H,NCONH,
(C) NaOH + HCl— NaCl + H,O
(D)  2KClO; —»KCl +30,
5.  frafafea § fewl el 3 T SR 2

(A) EaQU (B) ¥

(C) WA (D) Tawm

In which of thé following is tartaric acid found ?
(A) Orange (B) Tamarind
(C)» . Tomato (D) Vinegar

56 g‘ég&ajlwmmﬁsﬁwm%?
) Ffewm sefeegs (B) Hfewa TS
(C) hfcwad RS (D) Hfcwan eEgEHES
What is the chemical name of slaked lime ?

(A) Calcium oxychloride (B) Calcium chloride

(C) Calcium oxide (D) Calcium hydroxide
s
| $5/A/613 Page 20 ¢
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57. TN H W w6 A wew gan Rt Jraw g smm A Rl # e 2
(A)  Toeft o Ream o (B) wRe-gfvaw o o
(C) -zl feen 3 (D) 30 A =1 TE
A horizontal magnet hanging freely in air always comes to rest in
(A)  Any direction (B) East-West direction
- [©) North-South direction (D) None of these
58. Hﬁnmﬁmmm%mmr@w%.ﬁﬁwﬁﬂé
@A) fasfa B9 (B) ur@E an fasifya sih
(©) fuafe =& v

(D) 3 ¥ +13 38

If a compass is placed near a wire carrying electric current, then
the compass needle

(A) Will be deflected
(B) The current carrying wire will be deflected
(C)  Will not be deflected
[D} None of these
59. %R A wgd § shifererrd @ ) ol e 2
(A) Togd ge<hm o (B) To=I9 3mvwes & fyay
€ (A) 3R (B) B (D) T A
Faraday made many revolutionary discoveries, including
(A)  Electromagnetic induction
(B) Law of electrolysis
(C) Both (A) and (B)

(D)  None of these

M Page 21 of 32
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60. fovra Hiex yhafla T 2
(A) TR Sl @ faga St 4
B) Trga sl = gifvs o d
(©) i Sl bt faga S A
(D) forep i 9 RIS A
An electric motor converts
(A)  Chemical energy into electrical energy
(B), Electrical energy iﬁm mechanical energy
(C)  Mechanical energy into electrical energy
(D)  Electrical energy into chemical energy
61. WA % -am T Fraw § o g A oo g B 2
(B) I R FRIFA e w1 $t fewn
(C) s H Yarfka frge um # fam
(D) 5™ 4 #IT@‘T

In Fleming's left-hand rule, the index finger ;:,f the left hand
indicates '

(A)  Direction of ﬁmgnetic field

(B)  Direction of electric farce applied on the conductor

(C)  Direction of electric current flowing in

the conductor
(D)  None of these

| SS/A/613
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o2, TRE! ST AR} e am wefRa 3 W AR & S qun AR A TS
Jeha B g B 1
A) Torliawers

(B) WHH YHFR %

© TR E (D) T § P A

When electric current flows through a conducting wire, what type
of magnetic field is generated above and below Ithe wire ?

(A} Opposite type (B) Similar type

~(C) Not of any kind (D)

63. o faga S fvw v w1 Swf W@ 2 2

N_one of these

(A) A —B}— -:ﬂﬂTﬂwﬂﬁ

© (a3 (B) & D) T w7
What type of energy source is hydroelectric energy ?
{A) Renewable (B) Non-rcncwal;le
(C) Both.{A)and (B) (D) None of tﬁese

64. wH-H g Afvas 9w * fow et 2 2 )

(A) g (B T SHHTES
(C) T | (D) ¥ & =S 7l
. Which gas is responsible for global warming ?
(A) Nitrogen (B) Carbon dioxide
(C) Oxygen (D) None of these
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65. =T ¥ fem ouawd) ax 8 ?

A) 2 B) 3

C) 4 | D) S

How many isomers of butane are possible ?

(A) 2 (B 3
C 4 D S
66. Tl % 1] 1 RN A 8
TR (B) TR
(C) THIIEAHRE (D)  swEaEE
The shape of methane molecule is
(A) Linear (B) Annular
(C) Tetrahedral (D) .Octahedral
67. @i AP § e H wEeEa e
- B 2.
(C)y 3 . (D) 4

The valency of carbon in organic compounds is

(A) 1 (B) 2
(€} 3 (D) I4 ,
6. i@l @ ¥ Go TEEHEIR >
(A) T (B) kW
() s D) 7 & 3 T8
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Which of the following is saturated hydrocarbon ? |
(A)  Alkane (B) Akene
(©)  Alkyne | (D) None of these
69. TR #1 1UPAC T 2
(A) o (B) s
(C) wi= (D) ¥ & * 78
IUPAC name of ethylene is |
(A}  Ethane (Bl Ethyne
(C) Ethene (D)  None of these
70. USEHNE Y ad Wl Y ww w1 =0 o o
A AT H T e @ e
(B) Cli% 3fam wm &
(C) TEgeA # 3fa e 7d 3
(D) A

Which was a defect of Mendeleev's periodic table ?

(A)
(B)
(C)
(D)

Not giving proper place to oxygen
Not giving proper place to Cl
Not giving proper place to hydrogen

None of these

71. mmﬁwnﬁw%f@aﬁﬁ%a%mﬁﬁmﬁa%mW?

(A)
(C)

LESiES s
wher (D) STAEWR

LSS/A/613 ]
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Who among the l'ollowmg propounded the laws ‘of octave ?

(A) Mendeleev (B} Newlands
(C) Lothcr Meyer (D) Dobereiner
70, Profafed § @ 2 D e sfes e gm 2
(A) SO, (B) Na,O
) (C) Al,0,4 (D) NO,

Which of the following compounds would be the most basic ?

(a) SO, (B) NaO

(@ AL,04 | (D) NO,

73. o w o g 2

Ay TETEH —B) TPad
) BAFE (D) IME
Bile jl.;icc is secfeted by
() Oral cavity - (B) Liver
(CJ" 'Small intestine (D) Stomach

74. g A fRyw @igk F 7 HH w1 R 2

FEIEN HEEL fEra & av 3 ifbsfaas
& Tl FaA% m,aﬁaﬁm-ﬁ,

UTSIshd, siied, il ¢ee, He-317 3iie
(B) mﬂmaﬁﬁmm e

(C)  3TEWST HT Hag! FABe] qGHT BlhqrboardQuestlonpaper com p

(D) ¥ 8 HI¥ 78
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. What is the function of the villi located in small intestine ?

(A)  Blocking absorption

(B)  Reducing the surface area of absorption

(C) Increasing the surface area of absorption

(D) None‘nf these
75. W@ TR e wm 2

(A) (B) e
/LGD/HEﬂ —{D) AN

The posterior part of the oral cavity is

- (A)  Esophagus (B)  Pharynx
(C) Duodenum _ (D) Pancreas
76. mm%ﬁwﬁmwmmmmmﬁ
T HEERT 2
(A)  YEEeEE B) frvaws
(C) Ay D) ¥ & B 78

The transfer of O pfrom outside environment to cells ang removal of

CD2 is referrcd to as biharboardquestionpaper.com

{A) Exhalation (B)  Respiration
(C) Inhalation . (D) Nc;nc of these
77.  vhm-wvaRn § srfediee w1 g9 6 @
(A} geieha —{B) CO,
) & (D) HR Fi
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The basic source of oxygen in photogynthcsis is

(A} Chlorophyll | (B} CO,

(C) -~ Water (D) Solar energy

- 78, Trafafea § fha SR & “ﬁﬁgﬁf’éﬁiﬁﬁmm%?

(A) ATP /51/595,

TC} DTP D) ¥ 4w T

Which of the following is known as the ‘energy currency of the
cell ? |

(A) ATP ~ (B) ADP

© DTP (D) None of these

79. TIEH  Eem Wegr
(A) HieE w1 I S o (B) iadieE 1 a8 & fog
() IR i ) A % e (D) St 1 98T F e
Xylem in plant is responsible for
(A) Carrmying of food - (B) Ca;rying of oxygen
(C) ' Carrying of amino aéid (D) Carrying of water

80. | W%M_ﬁﬁﬁﬂ%ﬁﬁﬁﬁwmaﬁ%p |
(A) e T SR (WBC)  (B) oTet T HI¥HE (RBC)
(C) TF Uiz By /;ﬁ g i |
Apart from plasma, which of the following is found in blood ?
(A) ~ White Blood Cells (WBC)(B) Red Blood.Cells (RBC)

| (C) Blood platelets - (D)  All of these.
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WUS - ¥ /{ SECTION - B

‘ﬂﬁﬁh‘?ﬂﬁ‘!_?hysics
Y I W / Short Answer Type Questions
w¥T Wear 1#swagﬁﬁv?fﬁﬁ#ﬁm?4mﬁ$m$fmm$
frg 29 Frafffa 1 l4x2=8

Question Nos. 1 to 8 are Short Answer Type. Answer any 4 questions.
Each question carries 2 marks. 4x2=8

Lo g w1 R 2 gweh) s =)

Why do planets not twinkle ? Explain.
2. W swaddis R waa §
" What is called absolute refractive index ?
What is férsightedness ?
4. Torge e o & s w0
. What do you understand by electromagnetic inductionl ?
<5 Toed wmem o ST e = vt 2 0
Why isdinert gas filled in electric bul'é: ?
6. FnETR ¥ 319 = € 2
What do you understand by potential difference ?
" st w1 3w wa Bl wE E
What is called the best source of energy ?
8 TR w12 P U I IWIR P

What is dynamo ? What is its use ?
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I I9T W9 / Long Answer Type Questions

v @ 9 i .zoa?a‘saﬂamffﬁﬁ#%ﬂ?ﬁmﬁ?#‘mm
& fory 6 s Pratf #1 1x6=6

Question Nos. 9 and 10 are Long Answer Type. Answer any one of them.

Each question carries 6 marks.

I x6=6

a7 w2 e R e 5 @ # > g S e S 2 7

10.

What are defects of vision ? What are their typcs ? How arc the
defects resolved ?

ariite @99 6 FEe ot srEfsfy F i B
Describe the structure and worki_'ng method of a biogas plant.
. THIEAA A [ Chemillitry
oY IHUT W99 / Short Answer Type Questions

| e e 11 @ 18 7% w1y wwAa T @ R 4 uwl & I ) aE w

faw 2 e Fifia ®) . 4x2=8

i Question Nos. 11 to 18 are Short Answer Type. Answer any. 4 guestions.
Each guestion carries 2 marks. biharboardquestionpaper.com 4x2=8
11, TEmEtE S ] TH gR arel e gEma i ford

12.

Write three information obtained from chemical equation.

Aifead st w1 wed faewe gia g 21w 2

Why is an agueous solution of sodium carbonate alkaline ?

(13- g% ¥4 & ? U g 51 AW ford|

b}

14.

What is an indicator ? Write the name of an indicator.
TV Td ST H WA S @ ?

What is the difference between an atom and an ion ?

_}5'/ 3 1 gfewrfEa +i

Define ores.
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16 JTUISTHI Y WA T o @ @ v 2 o
Why have detergents replaced soap ?

17.  Sawd o wmdn @ o

[112]

What are fossil fuels ?

18, aad &t % Ay wd A amed ¥ st wwwd # 2

®

What do you understand by short and long periods of periodic
table ?

e I T = / Long Answer Type Questions

W¥T WEAr 194 20 3 s 1 i @ et e @ g &) uedw oy &
feer 5 31# Frafha & I1x5=5

Question Nos. 19 and 20 are Long Answer Type. Answer any one of.them.
Each question carries 5 marks.

Ix5=5
1o ﬁﬁmaﬂimﬁmﬁ%mmm.m@@'mv@ﬁmmﬁy

Differentiate between ‘metals and non-metals on the basis of
physical and chemical properties.

20.  Sl-HEC 1 AP FGh GUUR ¥ I w1 39E |
What is energy crisis ? Mention the measures to resolve it.
' S i / Biology
g I U9 / Short Answer Type Qﬁestions
Uy QT 21#23wagaaﬁa§rsﬁ#w4mﬁé;maﬁmm
F g 2 o Frerifeer 21

4x2=8
Question Nos. 21 to 28 are Short Answer Type. Answer any 4 questions.
Each question carries 2 marks.

4x2=8
21. =ifdrRr & IR S & am )

Write the names of four organelles of a cell.
| S5/A/613 |
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22. vEEA 1 gioee €|
Define respiration.
23, TEAY 9 FAOH § o W 8 P

What is the difference between xylem and phloem ?

24. JoESH W R P TEE o W@ 3 % AW fore!

Whiat is excretion ? Write the names of its two main parts.
L sra:rsnga'ch R ? frere @€ & oe sz gerat siifthfaaes
. FaYe due, Alse due, sfiEe-&,
What is phototrop1sm ?

UTSaehd, siled, Al eec, de-311 3T 1
s udten uss vz 3nfe & fA3T...
26. , JUOTOT &1 R ?

S BiharboardQuestionpuper.comp )
- What is pollination ? | %
27.  DNA TR S w2, $3 2
How is DNA the basis of heredity ?
28. UHTE WA % ORI P

What are the harmful effects of aerosol chemicals ?

€4 ITHT W / Long Answer Type Questions

W¥T WEAT 29 UG 30&#3?&?1;##%&@37337%:@3;%%
fore 5 o et &1

1x5=5

Question Nos. 29 and 30 are Long Answer Type. Answer any one of them

Each question carries 5 marks. Ix5=35 4
29, WamEvew w1 @ ? " aol =)

What is photosynthesis ? Describe it with a suitable.diagram
30. 3TRTE gerdl % WH Y I T qHHTY|

Explain recycling of waste materials with examples
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